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FUNCTIONS

Exercise Composite Functions

1. If  for all , find 

Watch Video Solution

f(x) = 2x − 1, g(x) =
x + 1

2
x ∈ R (gof)(x)

2. If  for all , then find 

Watch Video Solution

f(x) = 1/x, g(x) = √x x ∈ (0, ∞)

(gof)(x).

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_VXWbYBwmeavl
https://dl.doubtnut.com/l/_rXdQP8S3wRNB


3. If  are defined by 

 then find (i) 

Watch Video Solution

f : R → R, g : R → R

f(x) = 4x − 1, g(x) = x2 + 2 (gof)(x)

4. If  are defined by 

 then find (ii) 

Watch Video Solution

f : R → R, g : R → R

f(x) = 4x − 1, g(x) = x2 + 2 (gof)( )
a + 1

4

5. If  are defined by 

 then find (iii) 

Watch Video Solution

f : R → R, g : R → R

f(x) = 4x − 1, g(x) = x2 + 2 fof(x)

https://dl.doubtnut.com/l/_rXdQP8S3wRNB
https://dl.doubtnut.com/l/_cW7eGCyfRUyt
https://dl.doubtnut.com/l/_22jqHpkqQT1N
https://dl.doubtnut.com/l/_P4VXTmUsarFs


6. If  are defined by 

 then find (iv) 

Watch Video Solution

f : R → R, g : R → R

f(x) = 4x − 1, g(x) = x2 + 2 go(fof)(x)

7. If  are defined by 

, then find (i) 

Watch Video Solution

f : R → R, g : R → R

f(x) = 3x − 1 and g(x) = x2 + 1 (fog)(2)

8. If  are defined by 

, then find (ii) 

Watch Video Solution

f : R → R, g : R → R

f(x) = 3x − 1 and g(x) = x2 + 1 (fof)(x2 + 1)

https://dl.doubtnut.com/l/_KZFeu0PEWpwX
https://dl.doubtnut.com/l/_aM8tDyPhG6pZ
https://dl.doubtnut.com/l/_D6TbNh4ei7E3


Exercise Functions As Ordered Pairs

9. If  are defined by 

, then find (iii) 

Watch Video Solution

f : R → R, g : R → R

f(x) = 3x − 1 and g(x) = x2 + 1 (gof)(2a − 3)

10. If  then find 

Watch Video Solution

f(x) = 2, g(x) = x2, h(x) = 2x (fogoh)(x)

11. If  then find .

Watch Video Solution

f(x) = , x ≠ 1
x + 1

x − 1
(fofof)(x)

1. If  then find (i) f = {(1, 2), (2, − 3), (3, − 1)} 2f

https://dl.doubtnut.com/l/_5HsYqPE3x7mN
https://dl.doubtnut.com/l/_tSFT48OAF15a
https://dl.doubtnut.com/l/_Xx7uokd2BdMI
https://dl.doubtnut.com/l/_Dt3FzJLXK6lg


Watch Video Solution

2. If  then find (ii) 

Watch Video Solution

f = {(1, 2), (2, − 3), (3, − 1)} f 2

3. If 

find (i) 

Watch Video Solution

f = {(4, 5), (5, 6), (6, − 4)}, g = {(4, − 4), (6, 5), (8, 5)}

f + g

4. If 

find (ii) 

Watch Video Solution

f = {(4, 5), (5, 6), (6, − 4)}, g = {(4, − 4), (6, 5), (8, 5)}

f − g

https://dl.doubtnut.com/l/_Dt3FzJLXK6lg
https://dl.doubtnut.com/l/_PfJPXvRHW0wD
https://dl.doubtnut.com/l/_bl4hz9bKLkMh
https://dl.doubtnut.com/l/_7i4tnNMAHiKR


Exercise Spq

5. If 

find (iii) 

Watch Video Solution

f = {(4, 5), (5, 6), (6, − 4)}, g = {(4, − 4), (6, 5), (8, 5)}

fg

6. If 

find (iv) 

Watch Video Solution

f = {(4, 5), (5, 6), (6, − 4)}, g = {(4, − 4), (6, 5), (8, 5)}

√f

1. If  then find (i) 

Watch Video Solution

f = {(1, 2), (2, − 3), (3, − 1)} 2 + f

https://dl.doubtnut.com/l/_Cn5apMjZKSCu
https://dl.doubtnut.com/l/_smaxPEo9XFGP
https://dl.doubtnut.com/l/_GNlHKMG67Lox


2. If  then find 

Watch Video Solution

f = {(1, 2), (2, − 3), (3, − 1)} √f

3.  defined by , then this function is

injection or not? Justify.

Watch Video Solution

f : R → R f(x) =
2x + 1

3

4. Find the inverse of the real function of .

Watch Video Solution

f(x) = ax + b, a ≠ 0

5. Find the domain of the real function 

Watch Video Solution

√3 + x + √3 − x

x

https://dl.doubtnut.com/l/_H1h3DTG63SVt
https://dl.doubtnut.com/l/_NXeQ43i2ohXf
https://dl.doubtnut.com/l/_O6WXR2glctNh
https://dl.doubtnut.com/l/_ugRayIg7jnoz


Exercise One One Onto Functions

1. If  is a surjection defined

by  then find B.

Watch Video Solution

A = { − 2, − 1, 0, 1, 2} and f : A → B

f(x) = x2 + x + 1

2. If  is a surjection defined

by  then find B.

Watch Video Solution

A = {0, , , , } and f : A → B
π

6

π

4

π

3

π

2

f(x) = cos x

3. If Q is the set of all rational numbers, and  is defined by 

, show that f is a bijection.

Watch Video Solution

f : Q → Q

f(x) = 5x + 4, ∀x ∈ Q

https://dl.doubtnut.com/l/_6L2QuRM3QYpT
https://dl.doubtnut.com/l/_qtek1lTAaa54
https://dl.doubtnut.com/l/_4OiUt8AZx7Kg


Exercise Inverse Of A Function

Exercise Even Odd Functions

1. If  is defined by , find .

Watch Video Solution

f : Q → Q f(x) = 5x + 4 f −1

2. Find the inverse function of 

Watch Video Solution

f(x) = log2 x

3. Find the inverse function of .

Watch Video Solution

f(x) = 5x

https://dl.doubtnut.com/l/_67SrZxIZXhCO
https://dl.doubtnut.com/l/_7RwUJIJ9k9LR
https://dl.doubtnut.com/l/_ZBH1yrWg9SqF


Exercise Domains And Ranges

1. Determine whether the function  is

even or odd.

Watch Video Solution

f(x) = log(x + √x2 + 1)

2. Determine whether the function  is even or

odd

Watch Video Solution

f(x) = x( )
ex − 1
ex + 1

1. Find the domain of the real function 

Watch Video Solution

f(x) = √16 − x2

https://dl.doubtnut.com/l/_ezpwsJqxC1Ir
https://dl.doubtnut.com/l/_Qhmj9Wbc3qYm
https://dl.doubtnut.com/l/_EY9yutTPwxeJ


2. Find the domain of the real function 

Watch Video Solution

f(x) = √x2 − 25

3. Find the domain of 

Watch Video Solution

√x2 − 3x + 2

4. Find the domain of the real function 

Watch Video Solution

f(x) = √4x − x2

5. Find the domain of the real function 

Watch Video Solution

f(x) = √2 − x + √1 + x

https://dl.doubtnut.com/l/_h0NIcpXD0FyE
https://dl.doubtnut.com/l/_Ye6j3UKA96Rp
https://dl.doubtnut.com/l/_n5YLUS0XoFyG
https://dl.doubtnut.com/l/_FJTYsPtU5Ap0


6. Find the domain of the real function 

Watch Video Solution

f(x) =
1

√1 − x2

7. Find the domain of 

Watch Video Solution

1

√x2 − a2

8. Find the domain of the real function 

Watch Video Solution

log(x2 − 4x + 3)

9. Find the domain of the real function 

Watch Video Solution

f(x) =
1

log(2 − x)

https://dl.doubtnut.com/l/_KrPH8dYDyzJh
https://dl.doubtnut.com/l/_sZyfBTtbzFqp
https://dl.doubtnut.com/l/_GwVyjPzfxoSy
https://dl.doubtnut.com/l/_CveqCgcTzySe
https://dl.doubtnut.com/l/_RI23TTfiWYnq


10. Find the domain of the real function 

Watch Video Solution

√2 + x + √2 − x

x

11. Find the domain of the real function 

Watch Video Solution

2x2 − 5x + 7

(x − 1)(x − 2)(x − 3)

12. Find the domain of the real function 

Watch Video Solution

f(x) =
1

(x2 − 1)(x + 3)

13. Find the domain of 

Watch Video Solution

f(x) =
1

6x − x2 − 5

https://dl.doubtnut.com/l/_RI23TTfiWYnq
https://dl.doubtnut.com/l/_x37ZhzlT3u4n
https://dl.doubtnut.com/l/_bKOs03Ygfiuy
https://dl.doubtnut.com/l/_4x5aEQQNjugE


14. Find the domain of 

Watch Video Solution

f(x) =
3x

x + 1

15. Find the range of the real function 

Watch Video Solution

x2 − 4

x − 2

16. Find the domain and range of the function 

Watch Video Solution

f(x) =
x

2 − 3x

17. Find the domain and range of the real valued function

Watch Video Solution

f(x) =
2 + x

2 − x

https://dl.doubtnut.com/l/_z8c0PjVGZs7f
https://dl.doubtnut.com/l/_mquYZKtrFjGV
https://dl.doubtnut.com/l/_oMte2r0pjF9m
https://dl.doubtnut.com/l/_atQWp3jaAVNK


18. Find the domian and range of the real function 

Watch Video Solution

f(x) = √9 − x2

19. Find the domian and range of the real function 

Watch Video Solution

f(x) = √9 − x2

20. If the function  is defined by

 then find the values of (i) 

Watch Video Solution

f

f(x) =
⎧⎪
⎨
⎪⎩

x + 2, x > 1

2, −1 ≤ x ≤ 1

x − 1, −3g < x < − 1

f(3)

21. If the function  is defined by

 then find the values of (ii) 

f

f(x) =
⎧⎪
⎨
⎪⎩

x + 2, x > 1

2, −1 ≤ x ≤ 1

x − 1, −3g < x < − 1

f(0)

https://dl.doubtnut.com/l/_5NNzUIwVOS5m
https://dl.doubtnut.com/l/_EwOvpzCrQdxJ
https://dl.doubtnut.com/l/_aBVeQVzUJxtX
https://dl.doubtnut.com/l/_vyKBRRFlWGvL


Watch Video Solution

22. If the function  is defined by

 then find the values of (iii) 

Watch Video Solution

f

f(x) =
⎧⎪
⎨
⎪⎩

x + 2, x > 1

2, −1 ≤ x ≤ 1

x − 1, −3 < x < − 1

f( − 1.5)

23. If the function  is defined by

 then find the values of (iv) 

Watch Video Solution

f

f(x) =
⎧⎪
⎨
⎪⎩

x + 2, x > 1

2, −1 ≤ x ≤ 1

x − 1, −3g < x < − 1

f(2) + f( − 2)

https://dl.doubtnut.com/l/_vyKBRRFlWGvL
https://dl.doubtnut.com/l/_mcmPPp9eJmlb
https://dl.doubtnut.com/l/_tpJ1wzT2i48F


24. If the function  is defined by

 then find the values of (v) 

Watch Video Solution

f

f(x) =
⎧⎪
⎨
⎪⎩

x + 2, x > 1

2, −1 ≤ x ≤ 1

x − 1, −3 < x < − 1

f( − 5)

25. If the function  is defined by 

then find the values, if exist, of (i) 

Watch Video Solution

f f(x) =
⎧⎪
⎨
⎪⎩

3x − 2, x > 3

x2 − 2, −2 ≤ x ≤ 2

2x = 1, x < − 3

f(4)

26. If the function  is defined by 

then find the values, if exist, of (ii) 

Watch Video Solution

f f(x) =
⎧⎪
⎨
⎪⎩

3x − 2, x > 3

x2 − 2, −2 ≤ x ≤ 2

2x = 1, x < − 3

f(2.5)

https://dl.doubtnut.com/l/_HcEgnDv0qpsr
https://dl.doubtnut.com/l/_kXk3GWarQl1c
https://dl.doubtnut.com/l/_SroC9CfDVj2r


27. If the function  is defined by 

then find the values, if exist, of (iii) 

Watch Video Solution

f f(x) =
⎧⎪
⎨
⎪⎩

3x − 2, x > 3

x2 − 2, −2 ≤ x ≤ 2

2x = 1, x < − 3

f( − 2)

28. If the function  is defined by 

then find the values, if exist, of (iv) 

Watch Video Solution

f f(x) =
⎧⎪
⎨
⎪⎩

3x − 2, x > 3

x2 − 2, −2 ≤ x ≤ 2

2x = 1, x < − 3

f( − 4)

29. If the function  is defined by 

then find the values, if exist, of (v) 

Watch Video Solution

f f(x) =
⎧⎪
⎨
⎪⎩

3x − 2, x > 3

x2 − 2, −2 ≤ x ≤ 2

2x = 1, x < − 3

f(0)

https://dl.doubtnut.com/l/_SroC9CfDVj2r
https://dl.doubtnut.com/l/_nazR8nYvOnn7
https://dl.doubtnut.com/l/_K3w2g6yDdwTL
https://dl.doubtnut.com/l/_5lXnUv7x8R1P


30. If the function  is defined by 

then find the values, if exist, of (vi) 

Watch Video Solution

f f(x) =
⎧⎪
⎨
⎪⎩

3x − 2, x > 3

x2 − 2, −2 ≤ x ≤ 2

2x = 1, x < − 3

f( − 7)

31. If f and g are real valued functions define by

 then find (i) 

Watch Video Solution

f(x) = 2x − 1 and g(x) = x2 (3f − 2g)(x)

32. If f and g are real valued functions define by

 then find (ii) 

Watch Video Solution

f(x) = 2x − 1 and g(x) = x2 (fg)(x)

https://dl.doubtnut.com/l/_5lXnUv7x8R1P
https://dl.doubtnut.com/l/_Z9FUp5GRmKFP
https://dl.doubtnut.com/l/_YgJHdVojisfC
https://dl.doubtnut.com/l/_FBhh1ftbx6V0


33. If f and g are real valued functions define by

 then find (iii) 

Watch Video Solution

f(x) = 2x − 1 and g(x) = x2 (f + g + 2)(x)

34. If f and g are real valued functions define by

 then find (iv) 

Watch Video Solution

f(x) = 2x − 1 and g(x) = x2 ( )(x)
√f

g

35. If , then find (i) 

Watch Video Solution

f(x) = x2 and g(x) = |x| f + g

36. If , then find (ii) 

Watch Video Solution

f(x) = x2 and g(x) = |x| f − g

https://dl.doubtnut.com/l/_ypjjDbl88g1o
https://dl.doubtnut.com/l/_Szjh1al0Z2Z1
https://dl.doubtnut.com/l/_rPx9benr880b
https://dl.doubtnut.com/l/_70dKXFjVHOz0


Watch Video Solution

37. If , then find (iii) 

Watch Video Solution

f(x) = x2 and g(x) = |x| fg

38. If , then find (iv) 

Watch Video Solution

f(x) = x2 and g(x) = |x| 2f

39. If , then find (v) 

Watch Video Solution

f(x) = x2 and g(x) = |x| f 2

40. If , then find (vi) 

Watch Video Solution

f(x) = x2 and g(x) = |x| f + 3

https://dl.doubtnut.com/l/_70dKXFjVHOz0
https://dl.doubtnut.com/l/_yYYHsknqLZiw
https://dl.doubtnut.com/l/_2EHPkbnywgHw
https://dl.doubtnut.com/l/_OG5SFRnWpHG9
https://dl.doubtnut.com/l/_pSvQ5aTP5SUm


Exercise Vsaq

1. If  then show that 

Watch Video Solution

f(y) = , g(y) =
y

√1 − y2

y

√1 + y2

(fog)(y) = y

2. If  are defined by 

 then find (i) 

Watch Video Solution

f : R → R, g : R → R

f(x) = 2x2 + 3 and g(x) = 3x − 2, (fog)(x)

3. If  are defined by 

 then find (ii) 

Watch Video Solution

f : R → R, g : R → R

f(x) = 2x2 + 3 and g(x) = 3x − 2, (gof)(x)

https://dl.doubtnut.com/l/_WWwYdMQpYojb
https://dl.doubtnut.com/l/_yFsoaFbnELcc
https://dl.doubtnut.com/l/_PYIcpXGUa4Sf
https://dl.doubtnut.com/l/_UDt2ikZGSAri


4. If  are defined by 

 then find (iii) 

Watch Video Solution

f : R → R, g : R → R

f(x) = 2x2 + 3 and g(x) = 3x − 2, (fof)(0)

5. If  are defined by 

 then find (iv) .

Watch Video Solution

f : R → R, g : R → R

f(x) = 2x2 + 3 and g(x) = 3x − 2, go(fof)(3)

6.  is defined as  then show that 

Watch Video Solution

f : R − {0} → R f(x) = x +
1

x

(f(x))2 = f(x2) + f(1)

https://dl.doubtnut.com/l/_UDt2ikZGSAri
https://dl.doubtnut.com/l/_Yvzsgnq1bi4e
https://dl.doubtnut.com/l/_trT9LI0VSiax


7. If  is defined by , then S.T 

.

Watch Video Solution

f : R − {0} → R f(x) = x3 −
1

x3

f(x) + f(1/x) = 0

8. If  is defined by , then

show that .

Watch Video Solution

f : R − ( ± 1) → R f(x) = log
∣
∣
∣

∣
∣
∣

1 + x

1 − x

f( ) = 2f(x)
2x

1 + x2

9. If  are defined by 

, then find (i) 

Watch Video Solution

f : R → R, g : R → R

f(x) = 3x − 2, g(x) = x2 + 1 (gof −1)(2)

https://dl.doubtnut.com/l/_tfcBWo0YUSyk
https://dl.doubtnut.com/l/_DJ69h6Cl4z6w
https://dl.doubtnut.com/l/_UTk1TZru1yIt


10. If  are defined by 

, then find (ii) 

Watch Video Solution

f : R → R, g : R → R

f(x) = 3x − 2, g(x) = x2 + 1 (gof)(x − 1)

11. If  are defined by 

 then find 

Watch Video Solution

f : R → R, g : R → R

f(x) = 2x − 3, g(x) = x3 + 5 (fog)−1(x)

12. If  for  then show that 

Watch Video Solution

f(x) = 1 + x + x2 + .... . |x| < 1

f −1(x) =
x − 1

x

13. If  show that .f(x) = , x ≠ ± 1,
x − 1

x + 1
fof −1(x) = x

https://dl.doubtnut.com/l/_CACf1B8lsvqd
https://dl.doubtnut.com/l/_02NA4gtGAMba
https://dl.doubtnut.com/l/_UjsQbMdqa7pt
https://dl.doubtnut.com/l/_D9Z4lsF4Gm1a


Watch Video Solution

14. If  is defined by  then find 

.

Watch Video Solution

f : [1, ∞) → [1, ∞) f(x) = 2x ( x−1 )

f −1(x)

15. If  then show that  and

find .

Watch Video Solution

f(x) = ex and g(x) = loge x, fog=gof

f −1 and g −1

16. Let . Then solve the equation 

.

Watch Video Solution

f(x) = x2, g(x) = 2x

(fog)(x) = (gof)(x)

https://dl.doubtnut.com/l/_D9Z4lsF4Gm1a
https://dl.doubtnut.com/l/_k4cMKT7eIQD8
https://dl.doubtnut.com/l/_XKBff8nJTZfq
https://dl.doubtnut.com/l/_2ZGSrom9jhPW
https://dl.doubtnut.com/l/_ndkNyQoWvvVp


17. On what domain the functions

 are equal?

Watch Video Solution

f(x) = x2 − 2x and g(x) = − x + 6

18. If  then show that .

Watch Video Solution

f(x) = ∀x ∈ R
cos2 x + sin4 x

sin2 x + cos4 x
f(2012) = 1

19. If  is defined by  then show that 

Watch Video Solution

f : R → R f(x) =
1 − x2

1 + x2

f(tan θ) = cos 2θ.

20. Is  is a function from 

. to  If this is given by the formula 

g = {(1, 1), (2, 3), (3, 5), (4, 7)}

A = {1, 2, 34, } B = {1, 3, 5, 7}?

https://dl.doubtnut.com/l/_ndkNyQoWvvVp
https://dl.doubtnut.com/l/_ZEAxEcE7eZMi
https://dl.doubtnut.com/l/_IrIadNveL5LF
https://dl.doubtnut.com/l/_WPSvD2SLQ94v


 then find a and b.

Watch Video Solution

g(x) = ax + b,

21. If the function  defined by 

is a surjection, then find a & b.

Watch Video Solution

f : { − 1, 1} → {0, 2}, f(x) = ax + b

22. If  is defined as , is  onto?

Watch Video Solution

f : N → N f(x) = 2x + 5 f

23. Determine whether the function  defined by 

 


is one one (or) onto (or) bijection.

Watch Video Solution

f : R → (0, ∞)

f(x) = 2x

https://dl.doubtnut.com/l/_WPSvD2SLQ94v
https://dl.doubtnut.com/l/_CHR0ejtdDEix
https://dl.doubtnut.com/l/_jLy296XSDXie
https://dl.doubtnut.com/l/_IeyMVOxUVLRy


24. Determine whether the function  defined by 

 is one one (or)onto (or)bijection.

Watch Video Solution

f : (o, ∞) → R

f(x)loge x

25. Determine whether the function  defined by 

 is one one (or)onto (or)bijection.

Watch Video Solution

f : R → [0, ∞)

f(x) = x2

26. Determine whether the function  defined by 

 is one one (or)onto (or)bijection.

Watch Video Solution

f : R → [0, ∞)

f(x) = x2

https://dl.doubtnut.com/l/_IeyMVOxUVLRy
https://dl.doubtnut.com/l/_sHJsdz11k2l2
https://dl.doubtnut.com/l/_RmIcxOSc9OFi
https://dl.doubtnut.com/l/_JBFMzjRD1eQd


27. Determine whether the function  defined by 

 


is one one (or) onto (or) bijection.

Watch Video Solution

f : R → (0, ∞)

f(x) = 2x

28. If  which of

the following functions are onto? (i) 

Watch Video Solution

A = {x : − 1 ≤ x ≤ 1}, f(x) = x2 and g(x) = x3,

f : A → A

29. If  which of

the following functions are onto? (ii) 

Watch Video Solution

A = {x : − 1 ≤ x ≤ 1}, f(x) = x2 and g(x) = x3,

g : A → A

https://dl.doubtnut.com/l/_3TYoIINX7WhK
https://dl.doubtnut.com/l/_CBIvgzMluDyv
https://dl.doubtnut.com/l/_5YsKuLM0GCY8


30. Let  If 

 are defined by 

 then show that

.

Watch Video Solution

A = {1, 2, 3}, B = {a, b, c), C = {p, q, r}.

f : A → B, g : B → C

f = {(1, a), (2, c), (3, b)}, g = {a, q), (b, r), (c, p)}

f −1og −1 = (gof)−1

31. Determine whether the function  is

even or odd.

Watch Video Solution

f(x) = ax − a−x + sinx

32. Determine whether the function  is even or

odd.

Watch Video Solution

f(x) = sinx + cos x

https://dl.doubtnut.com/l/_X5AFetcxVXoo
https://dl.doubtnut.com/l/_u0xsmz3UM2nv
https://dl.doubtnut.com/l/_lSxm24TUrudc
https://dl.doubtnut.com/l/_etp3ADZrX7hV


33. P.T the real valued function  is an even

function on .

Watch Video Solution

f(x) = + + 1
x

ex − 1
x

2

R − {0}

34. Find the domain of the real valued function

.

Watch Video Solution

f(x) = √(x − α)(β − x), (θ < α < β)

35. Find the domian of the real valued function

Watch Video Solution

f(x) = √log0.3 (x − x)2

36. Find the domain of f(x) = √x − [x]

https://dl.doubtnut.com/l/_etp3ADZrX7hV
https://dl.doubtnut.com/l/_kKAxEG2UIkH6
https://dl.doubtnut.com/l/_PvZGFMmG8UBA
https://dl.doubtnut.com/l/_oRsXitYPChSt


Watch Video Solution

37. Find the domain of 

Watch Video Solution

f(x) = √[x] − x

38. Find the domain of 

Watch Video Solution

f(x) = √[x] − x

39. Find the domain of .

Watch Video Solution

f(x) = log(x − |x|)

40. Find the domain of .

Watch Video Solution

f(x) =
1

( 3√x − 2(log4−x 10))

https://dl.doubtnut.com/l/_oRsXitYPChSt
https://dl.doubtnut.com/l/_vHI28X8LzEMW
https://dl.doubtnut.com/l/_6pVFLsDc80gw
https://dl.doubtnut.com/l/_JyueB8nS99Tr
https://dl.doubtnut.com/l/_EywxICtOdt7s


Exercise Miscellaneous

41. Find the domain and range of the function 

Watch Video Solution

f(x) = |x| + |1 + x|

1. Define a One-one function. Give an example.

Watch Video Solution

2. Define a Onto function. Give an example.

Watch Video Solution

3. Define a Bijective function. Give an exmple.

https://dl.doubtnut.com/l/_EywxICtOdt7s
https://dl.doubtnut.com/l/_FnzZqTqKbq7S
https://dl.doubtnut.com/l/_Qfvi8sQnq6bg
https://dl.doubtnut.com/l/_nyyoD46Hizwo
https://dl.doubtnut.com/l/_oVYJtqbPn6fm


Watch Video Solution

4. Define an Even funtion and an Odd function. Give an example to

each.

Watch Video Solution

5. Define an Identity function.

Watch Video Solution

6. Define a Constant Function.

Watch Video Solution

7. Define an Polynomial function.

https://dl.doubtnut.com/l/_oVYJtqbPn6fm
https://dl.doubtnut.com/l/_D3v4ph0oz5tr
https://dl.doubtnut.com/l/_LGlgfM5GHdyJ
https://dl.doubtnut.com/l/_5lPzUfYCf6Td
https://dl.doubtnut.com/l/_0n09uIDkDfCC


Watch Video Solution

8. Define an Algebraic function.

Watch Video Solution

9. Define a Rational function. Give an example.

Watch Video Solution

10. Define Modulus function. What is its domain and range?

Watch Video Solution

11. Define Greatest integer function. What is its domain and range?

Watch Video Solution

https://dl.doubtnut.com/l/_0n09uIDkDfCC
https://dl.doubtnut.com/l/_ixjTq89RB9qP
https://dl.doubtnut.com/l/_bvJ0HMtIortR
https://dl.doubtnut.com/l/_eXGGZFXXmA50
https://dl.doubtnut.com/l/_8TIqL63FxY5s


12. Define Signum function. What is its domain and range?

Watch Video Solution

13. If  then prove that  is a constane

function.

Watch Video Solution

f(x + y) = f(xy) ∀x, y ∈ R f

14. Find the domain of definition of the function , given by the

equation .

Watch Video Solution

y(x)

2x + 2y = 2

https://dl.doubtnut.com/l/_8TIqL63FxY5s
https://dl.doubtnut.com/l/_1CGzWs5DKSVT
https://dl.doubtnut.com/l/_g53V3IuxBpY3
https://dl.doubtnut.com/l/_2tGtJQ90b3xL


15. Find the domain of 

Watch Video Solution

f(x) = √log10( )
3 − x

x

16. Find the domain of the real function .

Watch Video Solution

f(x) =
1

√[x]2 − [x] − 2

17. Find the domain of .

Watch Video Solution

f(x) = |x − 3|

18. Find the domain of 

Watch Video Solution

f(x) = √
4 − x2

[x] + 2

https://dl.doubtnut.com/l/_oc7p61LKuwYW
https://dl.doubtnut.com/l/_oA830RRsPrBx
https://dl.doubtnut.com/l/_M2UMPP0gbdZx
https://dl.doubtnut.com/l/_A7ksw900yXHi


19. Find the domain of .

Watch Video Solution

f(x) =
1

x + |x|

20. Find the range of 

Watch Video Solution

log∣∣4 − x2∣∣

21. Find the range of .

Watch Video Solution

sinπ[x]

1 + [x]
2

22. Find the range of .

Watch Video Solution

√9 + x2

https://dl.doubtnut.com/l/_GP3pDmvJ2W7J
https://dl.doubtnut.com/l/_xb7sMKFEaCCA
https://dl.doubtnut.com/l/_69bg4TvDH1jQ
https://dl.doubtnut.com/l/_a0JiCRxui4Si
https://dl.doubtnut.com/l/_dunEvFmZFjki


23. Find the domain and range of .

Watch Video Solution

f(x) =
tanπ[x]

1 + sinx[x] + [x2]

24. If the function  defined by , then S.T

.

Watch Video Solution

f : R → R f(x) =
3x + 3−x

2

f(x + y) + f(x − y) = 2f(x)f(y)

25. If the function  defined by  then show

that  and hence deduce the value of 

.

Watch Video Solution

f : R → R f(x) = ,
4x

4x + 2

f(1 − x) = 1 − f(x),

f( ) + 2f( ) + f( )
1

4

1

2

3

4

https://dl.doubtnut.com/l/_dunEvFmZFjki
https://dl.doubtnut.com/l/_AE3A05zEw7Vc
https://dl.doubtnut.com/l/_90SXtBWZmf78


26. If , then show that

Watch Video Solution

f(x) = cos(logx)

f( ). f( ) − [f( ) + f(xy)] = 0
1

x

1

y

1

2
x

y

27. If

are defined by 

then show that f and g are bijective functions and

Watch Video Solution

A = {1, 2, 3}, B = (α, β, γ), c = (p, q, r) and (f : A → B, g : B → C

f = {(1, α), (2, γ), (3, β)}, g = {(α, q), (γ, p)}

(gof)−1 = f −1og −1.

https://dl.doubtnut.com/l/_bQDAyyJycjKN
https://dl.doubtnut.com/l/_JZLysM1p5O51

